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Statement (1) BY ITSELF is suficientio |
answer the guestion, but statement (2) b iiself}
is not. . I
Staternent (2) 8Y [TSELF is suficient o
answer the guestion, but statement 1) by tself
is not.

Statements (1) and (2) TAKEN TOGETHER

are sufficient 1o answer the question, even
though NEITHER statenent B ITSELF is
suftcient

EITHER statement BY ITSELF is sufficientto
answer the guestion

Statements (1) and (2) TAKEN TOGETHER

are NOT suffcient to answer the question,
requiring more data pertaining to the problem.

W are told inthe stem that p s a prime number.
Remember that a prime number is an integer greater
than one that has only two factors: 1 and itself

Statement (1) ranslates into g7 = p2. Therefore, g
equals either o or negative p. In either case, squaring
pwill never yield a value that equals g The answer is
o, which is sufficient, (2) doesn' even mention g, so
its insuficient,
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The easiestway to proceed here is to pick numbers.
Letthe set of consecutive odd integers be S=(1,3,
5,7}, Then x= & and Z=7. Plug these numbers into
all ofthe answer chaices. You can eliminate any
answer choice which does not give you a value of |
forthe smallest integer.

(1): 2= 2x=T~2(4) = -1, Discard this answer
choice.

(2); 7-x+1=T-4+1=4. Discard this answer
choice.
(@) 2= 2= D=7 =240 =T=6=1 This works,
hold onto this answer choice.
(4): X-B+2=4-6+7 =5. Discard this answer
choice.

x

z
& 2 Discard this answer choice.
Since answer (3) is the only answer choice that gives
the right result of 1 for these values, it must be
correct
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[image: image3.png]Ifin one day the plane fies from Town A to Town 8
and thento Town C before fiying backto Town 4,
what rate must be charged per kilometer to have a 20
percent profit?
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You can begin by finding the total number of kilometers
flown. A o Bis 75 km, Bt C1s 65 km, and C back to
Als 110 kim, 50 the total number of Kilometers flown is
75+ 85+110, which is 250. Find the fuel cost for the
250 km at 20 cents per ki

5020

so0kmx T2

10000

Add the $50 fuel costto the $350 daily nonfuel cost
for atotal daily expenditure of §400. You wantto
make a 20% proft, and 20% of $400 is $80, 50 you
must earn §480 for the day. To find the cost per
Kilameter, just divide the total maney eamed inthe
day by the number of kilometers flown:

5480

343 = $192 dolars per klometer
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Statement (1) BY ITSELF is suficientio |
answer the guestion, but statement (2) b iiself}
is not. . I
Staternent (2) 8Y [TSELF is suficient o
answer the guestion, but statement 1) by tself
is not.

Statements (1) and (2) TAKEN TOGETHER

are sufficient 1o answer the question, even
though NEITHER statenent B ITSELF is
suftcient

EITHER statement BY ITSELF is sufficientto
answer the guestion

Statements (1) and (2) TAKEN TOGETHER

are NOT suffcient to answer the question,
requiring more data pertaining to the problem.

W are told inthe stem that p s a prime number.
Remember that a prime number is an integer greater
than one that has only two factors: 1 and itself

Statement (1) ranslates into g7 = p2. Therefore, g
equals either o or negative p. In either case, squaring
pwill never yield a value that equals g The answer is
o, which is sufficient, (2) doesn' even mention g, so
its insuficient,
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The easiestway to proceed here is to pick numbers.
Letthe set of consecutive odd integers be S=(1,3,
5,7}, Then x= & and Z=7. Plug these numbers into
all ofthe answer chaices. You can eliminate any
answer choice which does not give you a value of |
forthe smallest integer.

(1): 2= 2x=T~2(4) = -1, Discard this answer
choice.

(2); 7-x+1=T-4+1=4. Discard this answer
choice.
(@) 2= 2= D=7 =240 =T=6=1 This works,
hold onto this answer choice.
(4): X-B+2=4-6+7 =5. Discard this answer
choice.

x

z
& 2 Discard this answer choice.
Since answer (3) is the only answer choice that gives
the right result of 1 for these values, it must be
correct
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You can begin by finding the total number of kilometers
flown. A o Bis 75 km, Bt C1s 65 km, and C back to
Als 110 kim, 50 the total number of Kilometers flown is
75+ 85+110, which is 250. Find the fuel cost for the
250 km at 20 cents per ki

5020

so0kmx T2

10000

Add the $50 fuel costto the $350 daily nonfuel cost
for atotal daily expenditure of §400. You wantto
make a 20% proft, and 20% of $400 is $80, 50 you
must earn §480 for the day. To find the cost per
Kilameter, just divide the total maney eamed inthe
day by the number of kilometers flown:

5480

343 = $192 dolars per klometer
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